BID SUMMARY

TITLE: 2019 STORM DAMAGE REPAIRS ON WINDY HOLLOW ROAD, CR 508, M.P. 2.11

CONTRACT NO. 210024

DISTRICT: 1

COUNTY: MENDOCINO

ROUTE: 508

ADVERTISED DATE: March 8, 2022 BID OPENING DATE: March 29, 2022

PREPARED BY: Chris Gialdini DATE: 3/29/2022 CHECKED BY: Chris Spengler DATE: 3/29/2022

			Gregg Simpson Trucking NO. 1		ENGINEER'S ESTIMATE		Wylatti Resource Management, Inc. NO. 2					
				UNIT		UNIT		UNIT				
NO.	DESCRIPTION	UNIT	QTY.	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT			
	WINDY HOLLOW ROAD, M.P. 2.11											
1	Mobilization	LS	1	\$8,000.00	\$8,000.00	\$20,000.00	\$20,000.00	\$8,112.00	\$8,112.00			
2	Construction Area Signs	LS	1	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00	\$500.00	\$500.00			
3	Traffic Control	LS	1	\$1,000.00	\$1,000.00	\$4,000.00	\$4,000.00	\$1,000.00	\$1,000.00			
4	Water Pollution Control	LS	1	\$1,500.00	\$1,500.00	\$2,000.00	\$2,000.00	\$1,060.00	\$1,060.00			
5	Develop Water Supply	LS	1	\$1,000.00	\$1,000.00	\$5,000.00	\$5,000.00	\$500.00	\$500.00			
6	Clearing and Grubbing	LS	1	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00	\$2,373.91	\$2,373.91			
7	RSP (1/2 Ton, Method A)	TON	400	\$93.00	\$37,200.00	\$200.00	\$80,000.00	\$144.39	\$57,756.00			
8	Class 2 Aggregate Base	TON	55	\$200.00	\$11,000.00	\$50.00	\$2,750.00	\$163.33	\$8,983.15			
9	HMA (Type A)	TON	26	\$442.00	\$11,492.00	\$120.00	\$3,120.00	\$410.17	\$10,664.42			
	Total:				\$73,192.00		\$120,870.00		\$90,949.48			
	DBE Goal:				98%		4%		6%			
☆	Corrected Amount											

TITLE: 2019 STORM DAMAGE REPAIRS ON WINDY HOLLOW ROAD, CR 508, M.P. 2.11

CONTRACT NO. 210024

DISTRICT: 1 COUNTY: MENDOCINO

ROUTE: 508

BID OPENING DATE: March 29, 2022 ADVERTISED DATE: March 8, 2022

PREPARED BY: Chris Gialdini DATE: 3/29/2022 CHECKED BY: Chris Spengler DATE: 3/29/2022

				Coleman Environmental Engineering, Inc.		ENGINEER'S ESTIMATE		Bouthillier's Construction, Inc.				
				NO. 3				NO. 4				
				UNIT		UNIT		UNIT				
NO.	DESCRIPTION	UNIT	QTY.	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT			
	WINDY HOLLOW ROAD, M.P. 2.11											
1	Mobilization	LS	1	\$9,115.00	\$9,115.00	\$20,000.00	\$20,000.00	\$7,000.00	\$7,000.00			
2	Construction Area Signs	LS	1	\$1,800.00	\$1,800.00	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00			
3	Traffic Control	LS	1	\$14,343.00	\$14,343.00	\$4,000.00	\$4,000.00	\$7,000.00	\$7,000.00			
4	Water Pollution Control	LS	1	\$1,800.00	\$1,800.00	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00			
5	Develop Water Supply	LS	1	\$1,200.00	\$1,200.00	\$5,000.00	\$5,000.00	\$1,250.00	\$1,250.00			
6	Clearing and Grubbing	LS	1	\$5,662.00	\$5,662.00	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00			
7	RSP (1/2 Ton, Method A)	TON	400	\$120.98	\$48,392.00	\$200.00	\$80,000.00	\$185.00	\$74,000.00			
8	Class 2 Aggregate Base	TON	55	\$230.39	\$12,671.45	\$50.00	\$2,750.00	\$100.00	\$5,500.00			
9	HMA (Type A)	TON	26	\$442.30	\$11,499.80	\$120.00	\$3,120.00	\$300.00	\$7,800.00			
☆	Total: DBE Goal: Corrected Amount				\$106,483.25 100%		\$120,870.00 4%		\$109,050.00 N/A			

BID SUMMARY

CONTRACT NO. 210024

DISTRICT: 1 COUNTY: MENDOCINO

ROUTE: 508

ADVERTISED DATE: March 8, 2022 BID OPENING DATE: March 29, 2022

TITLE: 2019 STORM DAMAGE REPAIRS ON WINDY HOLLOW ROAD, CR 508, M.P. 2.11

PREPARED BY: Chris Gialdini DATE: 3/29/2022 CHECKED BY: Chris Spengler DATE: 3/29/2022

			C.V. Larsen Co. NO. 5		ENGINEER'S ESTIMATE		Rege Construction, Inc. NO. 6					
NO.	DESCRIPTION	UNIT	QTY.	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT			
	WINDY HOLLOW ROAD, M.P. 2.11											
1	Mobilization	LS	1	\$14,269.00	\$14,269.00	\$20,000.00	\$20,000.00	\$17,628.00	\$17,628.00			
2	Construction Area Signs	LS	1	\$2,205.00	\$2,205.00	\$2,000.00	\$2,000.00	\$2,084.00	\$2,084.00			
3	Traffic Control	LS	1	\$1,713.00	\$1,713.00	\$4,000.00	\$4,000.00	\$9,177.00	\$9,177.00			
4	Water Pollution Control	LS	1	\$6,027.00	\$6,027.00	\$2,000.00	\$2,000.00	\$1,417.00	\$1,417.00			
5	Develop Water Supply	LS	1	\$6,067.00	\$6,067.00	\$5,000.00	\$5,000.00	\$759.00	\$759.00			
6	Clearing and Grubbing	LS	1	\$6,148.00	\$6,148.00	\$2,000.00	\$2,000.00	\$8,434.00	\$8,434.00			
7	RSP (1/2 Ton, Method A)	TON	400	\$139.32	\$55,728.00	\$200.00	\$80,000.00	\$131.00	\$52,400.00			
8	Class 2 Aggregate Base	TON	55	\$131.87	\$7,252.85	\$50.00	\$2,750.00	\$148.00	\$8,140.00			
9	HMA (Type A)	TON	26	\$427.42	☆ \$11,112.92	\$120.00	\$3,120.00	\$498.00	\$12,948.00			
☆	Total: DBE Goal: Corrected Amount				☆ \$110,522.77 N/A		\$120,870.00 4%		\$112,987.00 N/A			

TITLE: 2019 STORM DAMAGE REPAIRS ON WINDY HOLLOW ROAD, CR 508, M.P. 2.11

CONTRACT NO. 210024

DISTRICT: 1 COUNTY: MENDOCINO

ROUTE: 508

ADVERTISED DATE: March 8, 2022 BID OPENING DATE: March 29, 2022

PREPARED BY: Chris Gialdini DATE: 3/29/2022 CHECKED BY: Chris Spengler DATE: 3/29/2022

					Piazza Construction NO. 7		ENGINEER'S ESTIMATE		NO. 8			
NO.	DESCRIPTION	UNIT	QTY.	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT			
	WINDY HOLLOW ROAD, M.P. 2.11											
1	Mobilization	LS	1	\$7,795.00	\$7,795.00	\$20,000.00	\$20,000.00	\$0.00	\$0.00			
2	Construction Area Signs	LS	1	\$2,150.00	\$2,150.00	\$2,000.00	\$2,000.00	\$0.00	\$0.00			
3	Traffic Control	LS	1	\$7,085.00	\$7,085.00	\$4,000.00	\$4,000.00	\$0.00	\$0.00			
4	Water Pollution Control	LS	1	\$3,650.00	\$3,650.00	\$2,000.00	\$2,000.00	\$0.00	\$0.00			
5	Develop Water Supply	LS	1	\$1,500.00	\$1,500.00	\$5,000.00	\$5,000.00	\$0.00	\$0.00			
6	Clearing and Grubbing	LS	1	\$6,490.00	\$6,490.00	\$2,000.00	\$2,000.00	\$0.00	\$0.00			
7	RSP (1/2 Ton, Method A)	TON	400	\$204.00	\$81,600.00	\$200.00	\$80,000.00	\$0.00	\$0.00			
8	Class 2 Aggregate Base	TON	55	\$178.00	\$9,790.00	\$50.00	\$2,750.00	\$0.00	\$0.00			
9	HMA (Type A)	TON	26	\$438.00	\$11,388.00	\$120.00	\$3,120.00	\$0.00	\$0.00			
☆	Total: DBE Goal: Corrected Amount				\$131,448.00 N/A		\$120,870.00 4%		\$0.00 N/A			